N Ec SIZE:A3 (Ver.0004)

. I hEE ACTOOV (aman ~142m)
e e B 50,/ 60Hz

| @\ ANEH 0.51A [ (S ]
6587 “ 10072578 SOW ]

BN s (Y TW) [ LEDFRT
EHES LW T

0 EIAE 6,000Im [ B4 K
\ B IRVF-EENE 120.0lm/W
§ HEERE 6,500K
@ § FHREFEE (RQ) g5
§ ZEEE $2.3Kkq
., \ NEC
® N | =
0 ; § SITIEF
§ JEIVEER (1 -8) K5
@ | \ H-WATY K5VEHLT
\ 1007247 (247) < 707887 < 50%aiT < 30%aiT < 10%a4T
0 - % B-BK5 KIVRRLT _
\ 100%84T (/) e BERK > 10%a0
| o d T B4y F2U b0 )bk
6 1OO%§T'H (24T) ﬁﬁl)*é[ﬂ%;ii‘%f%iilﬁéﬂ
9 A TEWET 5 IE
S OBEOmMY 3, BRAMRBKCLY OBERER. 5~35CORBTERL TLHTL,
BECRYMFHTLEIO, RORBKTEIS2L, )
BEOET - WH - BE- WKOBRERD 2T, OR2LLEDAB2ERT Ly BpoHIT AN,
O-BENMBETY, ORIELEOS 2B THEATEE A,
\ BIMAR - EROBBBHCUERTE$EA, RABEAYREL 7,
OEREWSALSNTE, FALEVTLIE Y, OLEDEBICHNSY A H 210, A-FKLEQATH
O?ﬁbﬂ@gﬁi\b?“b@z'@ok@\ ﬁﬁlﬁll’tl:%%é\ Hﬂééﬂ*é‘%&%iﬁ’éﬂ%v %9,
MEEROUEWTLFYN, VEOBRERY ET, O@D%ﬁl:uhu\Eﬁ@%)jw;ﬁubgﬁﬁﬂf
OBEANOBIE, DTEREG> TLHEL, RRUTELE A, ,
EERoRVE, BEOBRERZIENRHVET, | ORHERINEVSAPREAR LI T,
¥, HITBEEABRRUAKSBOOT, KLASDRETBIENHDEIN, STAT XN,
BB T LS L TS0 TS, OBEREBAOHL - 2OHEREBIBENS < BIEH T
PUHEORRLLBZERBY YT, BRI TV, K- BASOERERVET,
13| BBAAR POMEIS S|a& B
B By 3 ois 121 YUEIVEE# 1 [VEIVT -2 il
il 11| Jo-J PMMARITE | 1 | 368 2078Mf(0av5- i)
cARERBUE Y, WERURWTLE S0, ¥KOBRIEY %7, o SDFUERGEOE R A AR M TAITU T3 BABE% B 101 k> 3 E@
c SITOOEITER. NA-RETSAFY 2OBEGR LY. 2O, BREPLOOINBIRIEFHY ET, 9 [ LEDEY1 - 1 (Bl A1 HILD/FE 1452
[EY B [ Ry, ] EWIBESHREL B ERH ET, cFUEREBL TWABE, UEIVERBULILSWEARHY ¥T, 8 | Jo-JHi2E | SCCEIR 3
BEOEL TS YAPHIMGUEIVHROTIMBLERINETL | - 2U- T 50— Wis SHRACEZRAN, BoHUBUEIVT Al i 1 Vi I JED V2R . e
HER Ao R0, UEIVRIREL THIERLEVEANHY $7, BEVBETEBEHFBAL TLF TG, g fﬁﬁ%\ - T 1 ifﬁgé—v he—fk |Rr 1/ 7 u,d)*% I ETER =
L COBEBUEIVRA v FTHILTo, UEIVPOBBAN WO | - VEIVRE, 2OV EHEERE SRRT 0, e e E| 7O AV ST D
ENLABLTVOET 0T, BEOLDE, EIMERUER (v 72 | ¥k, Ty NNERLEORBRUBRUBER TS A, 3 [ 7577 (Rim) | BTl lER 2 LF—-990484 z
o T &0, C YT RYYVBEOREEOHOOTIVAY SRR ERERL T > TRER - ﬁjw 115¢e # 1L
DT VEEMY, SEREU TREL TP YL, AKEEMROTTRE N, BERT, €, HBOBRIEVET, BET; P TTae NECS AT+ Jthstan
= >4 T =
2 % % % & |hs H Oz A=




